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1. � i ´Jêü §eEê a− 10
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(a ∈ R) ´XJê§K a ��� ( )

A. −3 B. −1 C. 1 D. 3

2. ®� A = {x|x+ 1 > 0}, B = {−2,−1, 0, 1}§K ({RA) ∩B = ( )

A. {−2,−1} B. {−2} C. {−1, 0, 1} D. {0, 1}
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7. �Sn���ê�{an}�cn�Ú§S1 = 4a3§a2 = −2§Ka9= ( )

A. 6 B. 4 C. −2 D. 2
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9. � 4ABC �S� A!B!C ¤é�>´�©O� a!b!c.e b+ c = 2a, 3 sinA = 5 sinB§K
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10. e¼ê f(x) = x3 + ax2 + bx+ ck4�: x1, x2§� f(x1) = x1§K'u x��§ 3(f(x))2 +

2af(x) + b = 0�ØÓ¢��ê´ ( )
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11. ¼ê y = ln(1 +
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12. e�KCþ x, y ÷v�å^�

 x− y > −1,

x+ 2y 6 4,
K x+ y����� .

13. e�"�þa§b÷v|a| = 3|b| = |a+ 2b|§Ka�bY��{u�� .

14. ½Â3Rþ�¼êf(x)÷vf(x + 1) = 2f(x).e�0 6 x 6 1 �,f(x) = x(1 − x)§K�−1 6
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�¼êf(x) = sinx+ sin(x+
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19. £��K÷©13©¤

�ê�{an}÷va1 = 2, a2 + a4 = 8,�é?¿n ∈ N∗§¼êf(x) = (an − an+1 + an+2)x +

an+1 cosx− an+2 sinx ÷vf
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20. �¼êf(x) = ax− (1 + a2)x2§Ù¥a > 0§«m I = {x|f(x) > 0}.
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